
N = 361

361 circles in a 1x0.70000 rectangle

radius =   0.023078710081
ratio  =  30.330984598127

density  = 0.862942974933
contacts = 79
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N = 362

362 circles in a 1x0.70000 rectangle

radius =   0.023065112748
ratio  =  30.348865303183

density  = 0.864314038452
contacts = 719
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N = 363

363 circles in a 1x0.70000 rectangle

radius =   0.023050176901
ratio  =  30.368530489562

density  = 0.865579541881
contacts = 813
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N = 364

364 circles in a 1x0.70000 rectangle

radius =   0.022928303185
ratio  =  30.529952188214

density  = 0.858809911599
contacts = 879
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N = 365

365 circles in a 1x0.70000 rectangle

radius =   0.022916514491
ratio  =  30.545657381171

density  = 0.860283958697
contacts = 275
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N = 366

366 circles in a 1x0.70000 rectangle

radius =   0.022896524635
ratio  =  30.572325327712

density  = 0.861136610635
contacts = 308
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